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1
Decision/action requested

Minutes of the CR session in OAM.
2
Minutes
S5-145061(Ericsson):

NSN commented  that TS 32.103 will also need a CR to modify the table B.1.1.
This correction had to be done for the rest of the package so they all had to be revised.

S5-145065 (Ericsson): Nokia Networks objected against the reference to the 32 series. It was agreed to revise to find a better wording for this.

S5-145066 (Ericsson): revised according to the same changes as proposed in 061.
S5-145104(ZTE): Nokia Networks commented that there's no request for changes in the radio interface. Whatever measures that are available in the eNodeB can be collected. No independent measurement was agreed in the San Francisco meeting.The values proposed here can be an overkill, no practical purpose for these intervals will demand too much from the eNodeB.
Offline discussions were needed for this contribution.

S5-145105 (ZTE), 106: related to the previous contribution, it needed some offline discussions between ZTE and Nokia Networks. It was commented that Rel-12 cannot have cat B CRs, so if agreed it should go for Rel-13.
S5-145128 (Ericsson): Huawei and Cisco had some comments that needed further offline discussions. The discussion paper was noted and the CR in 161 was kept open for offline talks.
S5-145168 (ALU): Nokia commented that it was needed to be more specific what is being targeted. It is too generic: HeNodeB? Itf-n interface? The wording of the requirement is too ambiguous and generic.ERicsson commented that with this wording all HeNodeBs will have to support this requirement.
Offline discussions were needed for this  contribution.
S5-145169 (ALU): Deutsche Telekom agreed with the contribution. Nokia didn't agree with it, what does it mean when an eNodeB that doesn't need Energy Saving will have to support this parameter? Offline discussions were needed between Nokia and ALU. Other companies were invited to join.

S5-145173 (ALU): revised in order to correct the figure (still with ES states)

S5-145207 (Huawei): Nokia and Ericsson commented that 3,4, and 5 should be removed. Revised to address this mistake. Also to correct wrong WI code.

